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Higher Tier  

Exemplar 1 – Question 1b 

 

Marks 

Communication and content - 12 marks 

Linguistic knowledge and accuracy - 8 marks 

 

Commentary  

 

 

This candidate has produced a very competent piece albeit with mistakes, but which don’t 

detract from the communication of the bullet points. There is individual thought and the 

language is very effective and creative with a variety of mostly accurate grammatical 

structures including successful reference to past, present and future events. 
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Higher Tier  

Exemplar 1 – Question 2b 
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Marks 

Communication and content - 10 marks 

Linguistic knowledge and accuracy - 8 marks 

 

Commentary  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

This candidate has had a fair attempt at this question, communicating detailed 

information and expanding with some individual thought. The language is mostly effective 

with some variety of grammatical structures and it is mostly accurate. 

The candidate would have scored higher had s/he devoted a paragraph each to the first 

two bullet points, as it isn’t clear if s/he has answered the second one. There is also a 

little digression as s/he refers to his/her brother’s views; this may have distracted the 

candidate from concentrating on making sure s/he had fulfilled all bullet points. A 

thorough check of the French may have resulted in a higher language mark; such errors as 

occur towards the end of the paragraph about primary school. 
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Higher Tier  

Exemplar 1 – Question 3 

 

Marks 

10 marks 

 

Commentary  

 

THE FINAL MARK FOR EXEMPLAR 1 IS 48. 
 
 
 

 

This is a good attempt at the translation. The passage is fully communicated with 

consistently accurate French and errors do not hinder clarity. 

 

The candidate may have scored higher for example had s/he known the construction 

‘depuis’ with the present tense and used the conditional of ‘pouvoir’ instead of ‘vouloir’ in 

the last sentence.  
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Higher Tier  

Exemplar 2 – Question 1b 

 

Marks 

Communication and content - 9 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

  

This candidate has communicated detailed information with development. The language is 

mostly effective and there is some individual thought. There is some variation of 

grammatical structures and some accurate language with frequently successful 

references to present, past and future events. 

 

The candidate could have scored more highly had s/he tightened up his/her accuracy, as 

this would have led to more effective language and therefore clearer communication and 

ultimately a higher language mark. 
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Higher Tier  

Exemplar 2 – Question 2a 

 

Marks 

Communication and content - 12 marks 

Linguistic knowledge and accuracy - 9 marks 
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Commentary  

 

 

 

 

 

 

 

 

This candidate communicates information with development. Mostly effective language is 

used with some individual thought. The language is varied and mostly accurate with 

successful references to past, present and future events.  

The candidate would have benefitted by answering the bullet points in the order given. 

S/he seems to either answer the first bullet point at the end as well as in the first 

paragraph or the last paragraph refers to bullet point three, which is how s/he would 

change people’s lives through participating in a festival rather than how it would change 

his/her life. Whilst it’s clear that the candidate has answered bullet point four, s/he 

doesn’t really mention which festivals there are in England nor give advantages, but rather 

a description. In addition, the first paragraph contains some irrelevant material. Whilst 

the whole answer is assessed and checked against the fulfilment of the bullet points, it is 

preferable for the candidate to answer the bullet points in order and tick them off as 

s/he does so, so that s/he is satisfied that s/he has answered them. This also helps the 

candidate to be more logical in their approach so as not to miss anything out. This 

candidate could also have broken down the bullet points to make sure s/he really 

understood the brief. A check on accuracy would have resulted possibly in the language 

mark being in the higher band. 
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Higher Tier  

Exemplar 2 – Question 3 

 

Marks 

9 marks 

 

Commentary  

 

THE FINAL MARK FOR EXEMPLAR 2 IS 45. 

 

This is a very good attempt at this translation. The meaning of the passage is mostly 

communicated with occasional words incorrectly translated. The language is mostly 

accurate and errors in tenses hinder clarity only occasionally. 

 

The candidate could have scored higher had s/he been more accurate, for example with 

‘depuis’ plus present tense, use of the infinitive after ‘nous voudrions’ and the condiotional 

of ‘pouvoir’ to make the passage clearer. 
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Higher Tier  

Exemplar 3 – Question 1b 

 

Marks 

Communication and content - 11 marks 

Linguistic knowledge and accuracy - 7 marks 

 

Commentary  

 

  

This candidate has communicated all bullet points with expansion and in effective language 

with individual thought. The language is varied with good linking and generally accurate 

with occasional errors which hinder clarity a little. 

 

The candidate would probably have scored full marks if errors such as the use of the 

conditional form of ‘habiter’ had not been used instead of the imperfect in the first 

paragraph and the phrase ‘ce qui plus amusant d’avoir des amis dans votre payes’, which 

hinders clarity. 
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Higher Tier  

Exemplar 3 – Question 2b 
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Marks 

Communication and content - 10 marks 

Linguistic knowledge and accuracy - 7 marks 

 

Commentary  

 

 

 

 

This candidate has communicated information for each bullet point with development. The 

language is mostly effective with some individual thought. There is some variety of 

grammatical structures used with some accuracy with some successful reference to past, 

present and future time frames. 

 

The candidate writes about a future event, which is not relevant and surpasses the word 

limit, so s/he would probably have benefitted from adhering to the bullet points only. 

S/he spent some time crossing out a paragraph and rewriting it, which would have wasted 

some time better used for checking for accuracy.  
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Higher Tier  

Exemplar 3 – Question 3 

 

Marks 

4 marks 

 
 

Commentary  

 

THE FINAL MARK FOR EXEMPLAR 3 IS 39. 

 

 

 
 

 

This candidate has partially communicated the passage with some phrases and words 

miscommunicated. Errors prevent meaning being conveyed.  

 

The candidate may have scored more marks by knowing the structures ‘depuis’ and ‘venir 

de’ plus the present tense and by checking mistakes in both vocabulary and verbs. 
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Higher Tier  

Exemplar 4 – Question 1b 

 

Marks 

Communication and content - 8 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

  

This candidate has responded to all the bullet points and developed them within a 

reasonable number of words. The paragraphing is clear and easy to follow, which is very 

much aids reading. There is frequently effective adaptation of language with some 

individual thought. There are moments of fluency and some linked sentences with 

frequently successful reference to the present time frame in particular. Errors occur 

that occasionally hinder clarity of communication. 

 

The candidate is clearly able to communicate well in French, but accuracy has hindered 

this. The candidate would have scored higher had s/he checked what s/he had written, 

especially the perfect tense and verb endings.  
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Higher Tier  

Exemplar 4 – Question 2a 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 3 marks 
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Commentary  

 

This candidate has responded to all the bullet points. There is some relevant information 

and development and some effective adaptation of language, which has some successful 

reference to present and future events albeit with errors which hinder communication. 

However the answer to the first bullet point is quite general and doesn’t really address 

the fact that it is a music and art festival. S/he has also misinterpreted the third bullet 

point by firstly using the ‘vous’ form to explain how a festival would change the reader’s 

life rather than his/her own and also by referring to the past festival s/he has been to 

rather than the one s/he wants to go to. Equally, in the last bullet point the candidate 

seems to refer more to a future festival in Italy with its advantage rather than explain 

what exists at present in his/her area. There are also many errors in verb and tense 

formation with a mix of tenses to answer a bullet point. 

 

The candidate may have scored more marks by reading the context of the task and 

understanding that s/he is aiming to convince the organisers of the festival that s/he is 

worthy of a place. Therefore both bullet points one and three should be addressed from 

the candidate’s point of view, as s/he has done this for the second bullet point. S/he 

could also break down the bullet points more forensically by identifying which tense was 

required eg: in bullet point 3, work out that ‘va’ and ‘changer’ are components of the 

future tense. Equally with the accuracy of the tenses and verbs, a forensic check could 

have eliminated some basic errors. 
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Higher Tier  

Exemplar 4 – Question 3 

 

Marks 

4 marks 

 

Commentary  

 

THE FINAL MARK FOR EXEMPLAR 4 IS 26. 

 

 

 

 

 

 

The passage has been partially communicated, but some words have been incorrectly 

communicated. Errors prevent meaning being conveyed. 

 

The candidate could have scored more if s/he had checked his/her verb endings and had a 

broader vocabulary with a knowledge of constructions such as ‘depuis’ and ‘venir de’ with 

the present tense. 
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Higher Tier  

Exemplar 5 – Question 1a 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 3 marks 
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Commentary  

 

 

 

 

 

 

 

 

The candidate has fulfilled all bullet points apart from the last one, where s/he has 

clearly misunderstood the word ‘garder’ and so written about future events with friends. 

There is some development of the first 3 bullet points and some effective adaptation of 

language. Mostly straightforward language is used and there is occasionally some 

successful reference to present, past and future events. However errors hinder clarity at 

times for example ‘honesté’ and ‘nous sommes au magasin’ and in the last bullet point there 

is a mixture of past and future tenses. 

 

The candidate would have scored more had s/he read the bullet points forensically, 

especially the last bullet point, establishing the tense required and also the fact that 

there was no indication that future events were required, so the candidate would have to 

think of what else may be asked for. S/he would have benefitted from checking for 

mistakes throughout, especially that all components for the perfect tense were included. 

Also, if the candidate was aware that s/he was inventing a French word for honest 

because s/he wanted to tell the truth (no pun intended!), then it would be better to 

choose another adjective, which the candidate was confident of in French even if it wasn’t 

true. 
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Higher Tier  

Exemplar 5 – Question 2b 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 3 marks 
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Commentary 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

This candidate has attempted all the bullet points within the word count and developed 

some including some individual thought. The reference to where his/her parents lived is 

not relevant, but doesn’t deter from the passage. There is some effective adaptation of 

language, which just about communicates the message intended, but errors do hinder 

communication. Mostly straightforward language is used with some successful references 

to past, present and future events. 

 

The candidate would have scored higher had s/he checked what s/he has written more 

closely especially formation of verbs and that each answer is written in the same tense. 

Also checking that sentences made sense by translating into English and filling in the gaps 

would aid comprehension eg: ‘les gens on doit au travaillé’ and ‘parce qu’ils sont les jeunes 

être contente’. 
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Higher Tier  

Exemplar 5 – Question 3 

 

Marks 

3 marks 

 

Commentary  

 

THE FINAL MARK FOR EXEMPLAR 5 IS 19. 

 

Some individual words or phrases are correct, but there are frequent omissions and 

English interference. Regular errors prevent meaning being conveyed. 

The candidate clearly found this challenging. A broad range of vocabulary and a command 

of standard grammatical structures such as ‘depuis’ and ‘venir de’ are essential in order to 

attempt the translation with success. 


